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GROUP—A / F—SI% / 1 / F—SEEN [ H—0

1. For each question given below, four answers are given. Out of
four, only one answer is correct. Select the correct answer :

oo 2Bt o TRGRLE TaR fimn wck | BIRGR oo T B W Ted |
T Gl AR ThRear
Wﬁmmﬁw%mMW|mﬁaﬁﬁm@ﬁwﬁml
% b (@E e
mmmwmmmwmm tic)
fma ) A e s g
ﬁﬁﬁaﬁaﬁmm%aﬂmﬁqmﬁiﬁmﬁﬁ%ﬁa@Hﬁ%mﬁm
ferfia -

(@) A solution reacts with crushed egg-shells to give a gas that
turns limewater milky. The solution contains—

b1 ¥dE S I @ I WFR O RFW IR (o Besiw 7T |
CSTRIBICA BN CRIEAT 3T | WALOTS HCT—
wﬁ:ﬂqy#ﬁsmcwwﬁﬁmmwmwmimﬁm
T (A FCR 1 TRACS SR— .

AR faeEsn maEeE e fawst ey SR de O
iR s gt ¥ mya ol wemt TiemEem —

" @ oA R % il gu waw ¥ At R w g g e 2 )
o & g R e A T v e

{i) NaCl (ii). HCI (it)) LiCl . (iv) KCl

.ﬁ/ An element reacts with oxygen to give a compound with
high melting point. This compound is also soluble in

water. The element is likely to be— 1

b1 (N, WRTER wAste RiFm IR B e AN Beom R |
BT ~11N1S T=E | Fae oTH! 'oA—

4> (T SR Hox R 3w OB TR @@ Beom g 1
A% T TN | TR (A =gen—

AHA qfmarn sfReAs R s et e B TR 9
W Wmfiar | & @idan el TRt IR qEr I er—
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i UTg TR & Wy AR W 3= e aren @t Bffa wd
R gz A 9 & focia 21 95 9 0 B a1 87
/{ﬂ calcium / (FRAN /£ FEPEN / FarEm / Sieww
(ii) carbon / IK [ IR [ FEA | FEA
(iii) silicon | &R / Biftem / Rifere / Rafe
(iv) iron | WA / W [/ €K / @l
(c) An element X forms a chloride with the formula XCly,
which is a solid with a high melting point. X would most .

likely be in the same group of the Periodic Table as
& Xt XCly Sgeed 'S 457 TA | % T SFNIYS 901 Ao

om1ef | (o] X OF (RO OO g1 356 A SFRAI FACSNS
@R ?

G X, XCl, GRS GRIATES o5 T | 4 T SEHIRYE G0
wﬂnﬁaxﬁm@@mﬁammmﬁwwmtm

Q2
gﬁgmxmxmztﬁrgaﬁaa’msaﬁwﬁ@ﬁnﬁﬁnﬁﬂmﬁﬁr
ﬂﬁnmwlgﬁwxwwﬁ_ﬁgﬁgﬂmﬁmw’
TSR TR FFASTEE AT FTEAr iR

T X, mlggmwmm%aﬁ@aﬂ%amﬁm
Wmalmmﬁﬁxéwmmm%mm?
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(i) Na () Mg (iii) Al fiv) Si

/(df/ The enzyme contained by our saliva is called
AR RIS 41 SHe [T (N A

SN T A S E T W
Sty i AT e g S
Eﬂﬁm(amm)ﬁavfﬁaq'amﬁm%
/ﬁ}mylase/ﬂﬂmfwmﬁﬁjmﬁéa/qﬁéq‘l'
(ii) 1ipase;ﬁmﬁw/ﬁmw/aﬁﬁa/am&a |
(iii) trypsin / Gea / Bofm / Rt / B

 (iv) pepsin / Cﬁ’[ﬁ?{fﬁ’{ﬁﬂ/w;‘.ﬁﬁ?
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(e) The part of the brain that controls ' the postpr_e and
/::‘quilibrium of our body is o .

FRGI T AR (72 TG4 I ST TG Rt 9, GiRgh! 2
w%mmwﬁwsﬁm&mwﬁmm, ek
ﬂmﬁmmmmwmwmm@m@,ﬁm

TR % e am o e ok B GRf aw dgen w1 R
B /7

() diencephalon |/ SEFEIER | CEACHER [ SRAAGER /
SATRABEH

.I(ii) cerebrum ./ ofam | cifem / Afem [/ smidrss
/{iﬁj cerebellum / R / Gifcem / Afdem | SRR

(iv) medulla oblongata | TP SEsaiet / CTSH] SEARANBT / ﬁg?n
a1 / Agen sheney

(/) During the course of evolution, the process: by which

the characteristic features of the members of a species
modify due to the influence of various factors and thus
give rise to the organisms with new characteristic features
is called

%mﬁwm,ﬁmwmm oEfer S
Whﬁm%wmw%wmmﬁm
ma«w@,mmmm |

@mﬁﬁwﬁféwmmﬂmmm@mwﬁm@m
wm%m@,mmwm |
Tt i e Al 9 TR ety
Wmﬁmﬁ@m%wmﬁﬁﬁmﬁmw
_wwmmmmw,aﬁ@mww
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Ya fyem ) sfen & S e g fedt o woifa & Shaaggt 6i
i Rtwaet % Afm e % e ¥ Rad e B TihE
Tardanetl @@ frdw <l o1 s B R, 39 whea A Fd §

/{i)’speciaticm | e / amfeeae / gt @A / Sefaa
(ii) evolution / TR / TR / WA / faere
(iii) inheritance / ICMFLFT / I / Bl WA IRFAE /
AFHH
(iv) variation / Rfemer / Rfewer / U@m / fafsw

(g Where should an object be placed in front of a convex
lens to get a real image of the size of the object?

TG WA SRR AR AR R 27, RIS (A
TS (FH Z AR ABR?
Wwwmaﬁsﬁsm—m,mﬁmam_
LY (I FCA S A ?

FiR gy TR A 9 gEd AR AR gaTet EHT'-?FHﬁ
RpmeTa 9 ERAE S A7

freft firg =1 AT AT GAF AR F SRS W S F R faw A

I o ¥ T FEl @1
(i) At the principal focus of the lens
GRRI 3 T IS
@R T (FRICA
=G TR ® HEIAE
¥ F g B W

(i) At twice the focal length
7'M O R WIS
@R R R8T TR
E'HE TAAGEH A AU
wFa gt F A T W
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/{pﬂ/ At infinity

TS

"
Temt A STITEEE
I W |

(iv) Between the optical centre and principal focus of the
lens

A AR (FF T I F IR &S
(AR WA (7% 9] Y6 FRICH NG
- Wi fire TR MR w Fw i A
T % TIRT FR a0 T BFE F

with normal vision is about 1
fRaan 23 5 NeuEa I =ABF (7Y PN G LA

o giEsrom TS Sm JeH 72 {/E el

HUEE1 JU13 A1 AR AR A6 e gy awite soangan s

q 3fE % Tgve & fore gere <wit Y sreuaw gt Bt ], @

dqzsm/qaﬁma,'mﬁ%rwzsﬁmfzsrﬁa
/(ii} 25cm [/ e @& R/ w @R/ 25 Fe Mo / 25 Fo o
(i) 25cm /e ® M /e@EAR [/ 2:5Ffe / 2:5F0 10

(iv) 25 m / x-¢ R / xe fldm / 2-5 fer / 2-5 H=

'(h/l‘he least distance of distinct vision for a young adult

(i) The practical unit of electrical energy 1 kWh means 1
(e =¥ IRARF 93¢ 1 kWh A

tapfes *fee IRT 93¢ 1 kWh T
Afe - uie Stk amgie 1 kWh & st
fargq o911 & SRR WEF 1 kWh 1 Taeia gl

() 36x10% J ) 3.-6x108 J
(i) 3.6x10° J (iv) 36x10% J
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ﬂ, Which of the following is not an example of a bio-mass
energy source? !

o (P00 RIR-SR <[] Beo THIad 2 2

e @Fh &t «feq Berr S w7

TREt T e Aems wiet gar aea R Tet?
Frafafas 3 @ <9 9 v F1 9 #5139 T8 &7
() Wood / ¥R / 70 / TH | TR

g Nuclearagﬁnergy | REdm e / Re#r =% / Txami ufE /

ﬁGobmgas/CWCﬂi/cmW/WﬁH/‘ﬁm?m
(iv) Coal / 3% / F5&q / Qe | FiAA

GROUP—B / ¥—sI% / 3—N1 / T—RTN | T—wW
2. Give an example of a double displacement reaction. i 1
fa-wopRe Rfdmm b Tereae frmm |
3o fa-weriae Rfdrms Tzad we |
srErEE feenamef aea fafef= e
Rt e 1 @& e G

3. -What is ductility of a metal? 1
/W@NWW@KH?

G 4TPR T IF I ?

yIg WHRT RIS JTE) g8i?

ygR g

}/ Which of the following hydrocarbons wundergo " addition
reactions? . 1
CyHg, C3Hg, C3Hg, CoHy and CHy '

T (FARAR TG IRA e RfdFm cr@m 2
_CoHg, C3Hg, C3Hg, CoHp ¥ CHy
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http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

e @mafs FReea Qe Riem e 2
CoHg, C3Hg, C3Hg, CoHy W CHy

TERN AT §15g FETER SIUAE ferememg RfRm?
CoHg, C3Hg, C3Hg, CoHy 3 CHy

Freaferfaa wsgema § et gwem aififen o 27
CoHg, C3Hg, C3Hg, CoHp 3 CHy

S. What is a dominant character? 1
ol 5RA I @A ?
el 5 T = 2
TR A@H ARd) G817
Wl =fa fF wga 87

¢ What is meant by power of accommodation of the eye? 1
533 Terarsa wHe! 2
O3 TS e
TR TR MElen A get?
T FHI e ¥ w1 ifng 37

7. Take about 3 mL of sodium sulphate solution in a test tube. In
another test tube, take about 3 mL of barium chloride solution.
Mix the two solutions and answer the following :

Wbl *RIFere 3 mL I ®RAN wEEty W CGTRI | S 951 *RrFHee

3 mL T QRN AR T3 @RI | D T o) W oo Ry
Taq for '

36 *RIPACA 3 mL G AECED 73 e | 57 <D S 3 mL -
R GRS 73 8 | 7 w9 Rt 3o o R Yew e .
TR AR TG 3 mL W WA wrete TReE w1 A T TR
TEITE 3 mL M AW TS e 1 A TReEE) R s
TRA™ TSR A o
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@ TEAE § 3 mL TR 8 w1 fem A @ d wade 3
3 mL afam wanme dfm) F frerst = e <fifr) s sw &
(a) Write the observation of the above experirncnt.' 1
@73 ~RPICOM *ReTw |
TOTATE QTR R (o0 |
M reemR TRfafremar for)
g frarraa # e = S, fafau)

(b) Write the chemical equation of the above observation and
mention the type of the reaction.
89q WWWWqﬁmwﬁ@mﬁﬁww
+q1 |
TR oRcrwafby PR IR @l M\WWW‘i
A
m! l -
I Jawr % g v et wiem fafeg g sER SER We
$ifm)

8. A metal compound A reacts with dilute hydrochloric acid to
produce effervescence. The gas evolved extinguishes a burmng

candle.

@Bl 4rea A A 7Y REFRE ke tre [fEm 3R @l R ;@)
e (ZRT (STRCBIA O el 4T X' A |

a7 qroq (AN A A GRS Smfce e Riden e T R 3
Teom zeq P @It W@ A (T AR o |

mﬁ@ﬁA&ﬂéﬁﬁ%ﬁ;aﬁﬂmqﬁsﬁﬁﬂmmmﬁ@m
TWRERN | TERAE e Sia™ YME T8 FHaTE @ |
P urg s A 77 TRGTRGE 3 A Al e #, mmm
g STt e S gen I ) |
(@@ Name the gas that extinguishes a burning candle 1
qfe] 2P T'T TYGA (TREGA AN o | i
A R (TN TS SHFIA AW A |
e 4 TEeTE @ e g e
et AAet S gHR AT T H AW @
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(b) Write a balanced chemical equation for the f'eaction if one
of the compounds formed is calcium chloride.

RRFITS Beom @R <GB (@ e #ARs 2o RIEEoR I

- wgfers AN &40
RRFIMCS Beom 26T @ (s FEAPEN @RS o Ry w0
sEfere AAeaeft ¢ | , |

| frwgEE aRREE R deen  SaRem TS S
ez aram TG TEEAR aREeg R _
muﬁm#mﬁwmwmaﬁwﬁﬁﬁﬁ
T iR RS B > '
Or / 7133 / |31 / T&r / HAaan
What is a neutralization reaction? Give two examples. 1+1=2
)ﬂﬂﬁﬁm%?@x@w#ﬁw
epre Rfdr 1 2 6 Trrmme e EES
ween WA R me e R A 2

mwuﬁ%mw%?amwaﬁgl

9. Name the respiratory pigment present in our blood. State its
function. 1+1=2

wmwwmﬁﬁamﬁwwﬁ«wmww|
SHICT T AR APRSER T @I | FNeRm 3 T 301
Gﬁﬁaﬂﬁmsﬁmﬁ@zﬁgﬁtlﬁﬁwﬁ@w’l

TR TR # I9fea e avie o1 wm Rl et = 7 27

Write two differences between axon and dendrite. 2
G SF (G VR o1 A1 et |

WA R} COTGRDA T o ool o |

A A SAgrze A W wrm Ry

Ao () qu g (Fge) # @ siw fafaw
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11. What is the importance of DNA copying in reproduction?
o 2ifeFre DNA-T PR acamsnmel {3 2
oG 2ifFIs DNA-Y afRiPreem acmsamet 912
SeRATEE DNA T gFER i @7
Fo To o WAFR 1 T | 1 Hew &7

image.

An object is placed at a distance of 10 cm from a convex mirror
of focal length 15 cm. Find the position and nature of the

1+1=2

15 cm?’ﬁ‘ﬁmwwm‘hﬂw% 10cquﬂﬁW3‘*ﬂﬁ’ﬂ‘l

AT SaEw e oS A 9 1

15 cm @RP OCdR <3l bea wefd (WwF 10 cnim-wﬁwm

=0T | afeRafba sREm W3k oS fAda e

15 cm &'&E TEURA @91 JIRA TRAEE 10 cm FRYRAE HF8 ANR

a1 TfeT e | FEEt 9 A g g

15 cm %8 g ¥ frft 3o odur @ ¢ fm 10 em 0 w @ ?) i

$ Rufa qen vala 7@ AR
Or / 71231 /5% / Tar / Aean

An object 5 cm in length is held 25 cm away from a converging

lens of focal length 10 cm. Draw its ray diagram.

5 cm A 38 61 10 cm F'IR (9 SSAA (F9R 931 *[1 25
7age 911 29 | TR P e |

cm

g3 5 cm (R @ @3- 10 cmmmﬁﬂﬁﬁ@ﬁcw_

25 cm RS TN A | ¥ IFufod < |

5 cm TRIEA AT SR ETE 10 cmmmmmﬁmnﬁwu’l@

A5 frmeE 25 cm MSAE e ™ SE[ | 2R Fe aamiE sufa)

5 cm &1 T f= 10 cmmr@%mummaw 25 cm T ®

TG 911 § | g6 wenrw-famor et difvu|

B19-GS/22A
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13. A current of 0'5 A is drawn by a filament of an electric bulb for
10 minutes. Find the amount of electric charge that flows
through the circuit,

01 LIPS I SO 10 R FES 0-5 A 21 7 | TENDS B
R AT Sy =R Sfvea | -

G IPReT AT BIw 10 RS T 05 A TR G | A TS
R (ISP TR iR @/ A |

T Aot AR Rremi=en 10 ffe 99f arEw 05 A W& TRTEY 91
a@@@qwmmﬁ%{aaﬁﬁﬁﬁ@ﬁyl

freft g 7o H 93 %3 05 A g uw 10 e 7 warfea €l R1 fgg
afed § yeiRa forge smam 1 whem wra SRt
Or / 71%31 / A%t / QT / srorar

How much energy is given to each coulomb of charge passing
through a 6 v battery? 2

6V@zﬁaﬁaw-ﬂﬁ§{@wﬁﬁswwwﬁmwﬁﬁﬁm’@?
wﬁsvmﬁﬁawﬁmm@mﬁw'wWWﬁMw?
avmwmmmqﬁfﬁwmmwm?
6V 420 T T & O @i AW A Pl 3 4 et 37

-

19« Explain in brief how ozone layer is getting depleted. 2
WA T @RS I AR, TRF 00 97 |

S YA WY IS VTR, HCHC! W I |

H'SH AR AR T T e g2 Al

SIS W@ ey el & w2, w8 3§ 3ol B

% Explain the working fuﬁcﬁon of an electric motor. 2
<7 (IS T631 IANR < 741 |
3o (AT AR TR 0 e |
AR Hifed 7Rl graTet QT
rgg e 1 AR 1 vl B

B19-GS/22A
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16. Give any two ways in which non-biodegradable substances
would affect the environment.

e PR R RS oeR (R o[l R @A o1 SeRAR R
o

e e oM AREeT 2oR IR @ @A 56 SRR R G |
Rrazni A5 Rroeer sagEm M @ geh A 7 T RN

A A w0 gare Rt srda Aefofa gad watem £ mafiE @ 2

Mu have been provided with three test tubes. One of them
contains distilled water and the other two contain an acidic

solution and a basic solution respectively. If you are given only
red litmus paper, how will you identify the contents of each test
tube? _

CoTTE FFT ~fRrEet i Cze | PiEeR S A -o A I I 1S FH
a1 @fes T W @B FEIY T A | W R @ I8 PO e
i =, (8 2AfTD ~RrEETS 49 TR R o 9Rkar? -
oI oA ArwEE crew TR | o «3ftee AT wE R W
ifbre T G SIS T G I WRIW 79 O | I COWCF (T A
RIETPT I CROW W, oI ARH AP A TPTR S TS
IR ? _—

3 Tam SR TG QA WG AR TR W @ AR g A
Y cRea e 3 @R e €)1 gR AL e frema
GrENE’ A TR, 37 THAE AR SR A MAAEeRE JHR
fermafem? '

AR T TERE A R it T E WA R
snefi frerge o g § el faerA 21 AR snveh Fae we frerm @@ R
ST 2, 1 A9 TS e 3 W@ e gert f ggeE R w0

Or / 1331 / |91 / & / srerar

Which gas is usually liberated when an acid reé_cts with a
metal? Illustrate with an example. How will you test for the
presence of this gas? 1+1+1=3

ﬁw%ﬁﬁmﬁmmmwmﬂmﬁﬁf@m?aﬁ
BRRACTA TACS J1% ol | % (1o BoifRfs fRvea <A 3k 2

2
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S qigx % R I3 SuETs: @R T Refs 2w 7 o SrzarR
R@ @ 1 @3 s SRR Ferg R 393 2

AR aigs A ofeen R SEser TR W e SRERl? ae
Fafafrslt 31 3 Aaft gonfrm Tk seR G

UY F WY W R e 8 W amem: $e-dt g Bead 20w
FETR F R WHARY | I M ) iR A it o9 1R H07

// (a) Explain tP;e following in terms of gain or loss of oxygen

with one example each : 2

T I/ wm F @I T PR B SRR I
ql .
Wﬁmﬁﬁ@%ﬁﬂﬁWﬁWWﬁﬁﬁﬁWWﬁ
AR F¢I1:
aﬁaﬁqﬁm_w@mmmmﬁﬁm@nﬁﬁmﬁﬁﬁﬁ
QT - | ,
m%mmm%mmﬁmwﬁﬁwﬁﬁmm ¢
" % o s see A
/ij’o::idationfww/wm/ﬂ%mmm/m
jo/Reducﬁon/ﬁEﬁq/ﬁw/afﬁwm/mq

) Why should a magnesium ribbon be cleaned before
burning in air?

T TR WS e R o ARgR B3R 519 ws ey 2
Wmmﬁmﬁmmmwamﬁmm%m@m
e A Rt SR ﬂ?ﬁﬁmﬁz@ﬂﬁm-ﬁ@qm
7 S

g 7 e A et Aifrm o A w6 B s 37

19. (a) Which element has twice as many electrons in its second
shell as in its first shell? 1

(LT (Mo TS 90 o1am T 7891 20oRGH TR
(P (Teo TS I 21/ T [ 2o iR 2

mgﬁyﬁﬁm%@mﬁmsﬁma@'?
w3 @t A e T R A dh B

B19-GS/22A [ Contd. -:
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Vn atom has. electronic configuration 2, 8, 7. What is the

atomic number of this element? 1
BT RNE TR R T 2, 8, 7. €% (NAOA THART
s 52

q3fb R TeRaAe Rt =@+ 2, 8, 7. g% - Cafa ARaaiRe
N2 -

AR TR AR T Se 2, 8, 7. % Ry TEEAR

" aAfommET ANY

o oY e R 2, 8, 7 ¥ 7@ o ey Wl
27 - -

(c), Lithium, sodium, potassium are all metals that react with
water to liberate hydrogen gas. Is there any similarity in
the atoms of these elements?

S, R, R WHRE €y 1 XS T T
Rt TR RGO " T T | €@ CIRFOR AR R e
A ?

farfam, i, - PNy Raf ag | «af s e R
_mqmeﬁmq@mm‘ﬁm@ﬁﬁmﬁﬁgmm@?
fafiam, a'feam, qeftrman 361 feae S w9 iR JEn
SR T US| PR R TRRETERE HIHR TR
g A . | -
Eﬂfm,ﬁ%qn,ﬂmn—ﬁwmw%aﬁ%mmmﬂq
ﬁﬁ&ﬁ%lwsﬁaﬁiﬁmﬁﬁﬁémﬁ?

Or / %31 / 9% / T&T / 1t

The position of three elements A, Band Cin the Periodic Table
are shown below : | o

onfiga SR fSA6 (e A, B 9® cqmwc‘f’iﬂmm=
g e & (9 A, B 9 C @3 TR s T TR :

B19-GS/22A | Contd.
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20.

( 16 )

AR e g Amaw qREE A, B AR C T SwmerEt e
ﬁﬁhﬂmaﬁr:

37Ed |t 3 o @ A, Baw C 6 ff e yer @

(@)

(b)

(c)

Group 16 Group 17
— A

B C

State whether A is a metal or non-metal.
T A 99 3 BYTS 7

T A 419 = =g 2

A 3 UTg T YTgAtS?

Adig @ awmg?

State whether Cis more reactive or less reactive than A.

C (TTeh1 Al @R Al @ a5 sfepm 2
C (T A 99 (WF @R S =1 39 pw 2
C a1 A forgz Mt wimt 1 @w wimi?

AH e C At At d e

Will C be larger or smaller in size than B?
C (T=TH SRS B ST BT (7 379 2

C (q=1% IR B <R (AT IT 41 (6 7

C 31 B gz TafEm 1 3=fRm smA?

C %1 |15l B 921 8 a1 97

What is hormone? Give an example of a growth-promoting
plant hormone. How does movement of the leaves of a sensitive
plant differ from the movement of a shoot towards light?
1+1+1=3

A 7 BReve i afReen s /' A1 AGRR ol B S
i | S TR QTR oIS berw W 19T (A1RAR e T T WA
N SR 7

B19-GS/22A
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AR 7 I NS AR I SRR AGRA MR 9o TR WIS |
EHRO AOR MR TTHY G} I R Ao fice (@ MR 0y
AT 012 =g 2 '

T 3 H1? ARSI IRAAAE 938 B & A fafef € qim emw vty
fremf weam JAR 2w Wl Roeme werEE @Ry RE SRy
T 7

THIA 41 }7 T YIRY M H I Qe it IhE F Tgmr ¥ gS-93 Ie9
& ufert Y i, v i AR W R @ fra e e R

Or / 1231 / 9% / T&t / reran
What is hydrotropism? How would you demonstrate.
hydrotropism with the help of an experiment? 1+42=3

FEARERS T3 7 b1 AT T TS AR S 341 |
ARG R 2 GG AT ALY FARE AP FCAT |

TR 2w W7 A HAIE GEESIYE W TEEEE TRy gl
=R ‘ _ .
TR Fa1 §7 Sregadd qai % e o s i arftvemern Hif

Describe the process of sexual reproduction in flowering plants. 3
Foore SRS (T oS 2AfeFa 99 0 |

oo SR (IR oA Sife 301 3T |

faeR STCn AEHETE MR ARRAE GHGRE 464 |

geft it 3 SR SR sl @ e i)

Or / 783 / 991 / Tar / aar

How does reproduction help in maintaining stability to the
populations of a species?

s 2ifFars (AT 2 §ie AR RS T8 39 @Fe 7 T2
i R 99z R 9'TRATE SSEAE AEk I 2
S freft oftefier < wnfd ¥ enfie 3 Reg TR v &7

3
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22/ Explain the relation between evolution and classification.
TR S N Rrerema TR o I /4 |
TFARTP @3 o RSTeR W ST/ W7 T |
FIETAR A areREaRR oy 9eie ¥a4e)
S T v wff & s d6y w1 ok fift

Or / &3t / 523 / var / srerat

How many pairs of sex chromosomes are contained by the
human beings? Explain how is sex determined in a human

child.
/ﬁp @XAR Bt WY I @2 W R owae Ry ReEer
CPCRCR = ZW, A < |

T ¥ (191 oM (o = WA WeR T cvea B e
eI 1 =W, I A |

ARTERAE S S a9 w1y A AR e s wE Ry
AT W3, 3@ | |

mﬁ%wﬁmwﬁ%?wﬁmﬁnﬁuﬁm%@@mﬁ

23. Draw the ray diagram to show how hypermetropia is corrected.
The near point of a hypermetropic eye is 1 m. What is the
power of the lens required to correct this defect? (Assume that
the near point of the normal eye is 0-25 m) 1+2=3

VA RERFOR S AR AU P 791 | Ry 5 B A Tl
9 1 m. R PR FCNG A A @RI RS o1 R 2, (477
(TR FreIfE 539 I =% R 0-25 m) i
TfRerEeTR e Ciie Afufa e et | <3 g coram we fieh
R 1 m. X RII HCMCR & AN (@Teod o] 97 (478 e
o B1eR =1 6 7% 025 m)

oA el wrerrE RE A9 dar e aife) e g A
T e 1 m. 3 TR S arem w1 NaR S TR
(391 o1 FUETE AT @ty frien 0425 m)

fert s zise o6 -l & Wit frn s @1 o g
T w1 e g 1m 21 9 3 N a0 F R sews o 6 g
1 Brfi? (9 A S 7 amre 3 w5 P fig 0025 m d)
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Or / 33 / 9% / Tar / srear

Why does the sun appear reddish early in the morning?
Draw the ray diagram of an arrangement for observing
scattering of light in colloidal solution. 142=3

oo e qepEl (R R 2 ToHOR We e RFPET {Tw
Sgfer AT T 41 1 |

R F TS @ (M7 omen g woed R
RETHC TG AFfod =i |

R Rmif woE G TR WWm A7 woas TeEeE ®RE
ARG T 4TET SRR Wit Ja1 a3 |

@aﬂ%w@maﬁm@m%?ﬁﬁmﬁamﬂm%ﬁvh
1 Yo 7 5 o o doifm 99l

24. The resistance of a metal wire of length 1 m is 26 Q at 20 °C. If
the diameter of the wire is 0-03 cm, what will be the resistivity
of the metal at that temperature? 3

20 °C Txe® 1 m (794 4199 SR GUER @Y 26 Q. I SREER A
0-03 cm T, (5B C1% Twers 41gd ([@eFel R 2’37

20 °C T®woR 1 m g <3 43 O @4 26 Q. I ©rRoa IF
0-03 cm W, OIZCE C1X THOR 1P RINTFO] TS I ?

20 °C 3ursaE 1m wRYREM aigf ar SR darn 26 Q. R arE @
0-03 cm ST, 37ecT A SURAE Y TURAR IR 71 S0 7

vt o1g ¥ 1m @« a0 H 20 °C W Iga vRg 26 Q B IR AR F1 =W
003 cm R, @ 39 @19 W Uy A A Wiodrawa F qrft?
Or /1% / %A / & / 3reran

100 J of heat is produced in each second in a 4 Q resistor. Find
the potential difference across the resistor. | 3

407 @AKF 1o S (IWS Beo (A W 100 J. @HFOR R [T
e [Rearsn Sfeed |
4Q 93 9I AT 2AfS OIS Beom 267 T 100 J. @FHT 1R TNE
Ty ReArew (@ 91
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4 off A S AW AveaE 100 J iy fg @l Femt
B @ aranty R g

feedt 4 © SRRIYS @ T 9 100 J T 399 B @ ¥ wiys & Rl W
fama @ Hif)

25. Explain how does a Solenoid behave like a magnet. When is.thc
force experienced by a current-carrying conductor placed in a
magnetic field largest? 2+1=3

BTERRIC (A0 TP R W6 FCA, IHR o | BEe ovas gem 9
ARG RN O el I 99 (a1 el 27 2

CIRARTS ST PRFA WCol W63 I, T @Ted1 | T e Fio A
2GS G AR W= 41 351 I A W2

s TR gEs Ak AEk R dge v R geemiee @
Hifecia TR 37T B Aean Frew AT T |

TRAferR o R offe FR sEEr w2 Rl geha dm 3 fRm g
URETE! Iieieh W ARG 51 el 21ay Brar &7

26. What are the qualities of an ideal source of energy? Give the

names of two energy sources that you would consider to be
exhaustible. 2+1=3

@W-%@QW@Wﬁﬁ‘?QﬁWﬁﬁWWWﬁR@
SR T By 379 |

‘qﬁmﬁ%tﬂm@w%ﬁ?gﬁwﬁi@wﬁmwiﬁ%
T AW (@A | :

TR MR Fahy Irgamert M M? A HE wRE ddd S
vl @i 4 fv
mf%maﬁaﬁwgwéﬁé?@ﬂwimﬁ%m%ﬁmﬁ%m
T 4 & |

. (@) You are given a hammer, a battery, a bulb, wires and a

switch. How could you use them to distinguish between
samples of metals and non-metals?

CO® \ﬂ%‘['ﬂ@, \ﬂ%] ﬂﬁﬁ'l, L‘-ﬁﬂw, ﬂﬁﬂﬁqw m‘?@?ﬁﬂl‘i’ﬁ1
B19-GS/22A | |
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(oM G PR, @l AHA, @ IR, IW oW w3 I P
eT @ | (% RS IR IR AP GR WP N Fewd oA
FI?

T R Ty, TR Aed, TR A, aX AR T gIE eEE ki ]
IAREITE FEEA UTg I WgARS AAry Wt fema A7
R T i, el wew, o w R Ra o }) wE I W
urgail T8 argalt ¥ T % e g ofat AW W wHd 87

Pratyush took sulphur powder on a spatula and heated it.
He collected the gas evolved by inverting a test tube over
it. What will be the action of the gas on the following?
APICY 7% B TS WA 1 STre e | T (A (oD
(o8 b1 ArFeE erorens 4R AR IR | oS FAERY TS
(RCOR i @RI

g b (=B STC STerPR GTHl Fen Tare IR | T8 zem AP
Gl @ A T 5P «@ R IR | FakiReeRr eom uEa
R Fwe 737

TS T e WG HIEER TSR A e G | i
e frel T e TgEr AR GRE JeUrRAR gYAEE | TR

. PHEERE Yl ST a1 S -

Wﬁwqﬁﬁﬁwﬁ%ﬂaﬂnﬁml@w@qﬁaﬁm
+0h 393 Jeafia Ta F v frn) Frefefe w e 6t e g

(i) Dry litmus paper
w§ fAbaR 1S
w3 IR FICEA K
Tiver ferenma @rErE

@ foom @ w
(i) Moist litmus paper
fre fbaR TS

fire f5aPT FIeCER R |
R forene @@EtE

T forema W@ W
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(c)” State two ways to prevent the rusting of iron.
(oS ICA 4@ (1Y FRAC Wo1 By Bem 97 |

(SR VR A (Y FAR G0 SR Brmy I |
VR TRm TEEE! SRR SR T )
AR B S W TR % faw Q) s

Or / F1&3 / 91 / vat / et

-

(a) /Explain the formation of sodium chloride (NaCl) by

transfer of electrons.
ARG BT TR0 B A 333 (NaCl) S A <041 |
AR ISR T CIRAT GRIRTSa (NaCl) <187 0 ¢ |

IR TErAr | fam w0 gef (NaCl) Smfirrre @9

T o WA % TR Qe F@REe (NaCl) =t fmior-zmisw)

}H/ What are the ions present in NaCl?
NaCl (TRore 43 SRR 3 2

NaCl (qeifire Irl SEermz R N2
NaCl EREE A A | H?
NaCl # S19-% 3= Iufeq 87

(c) What are amphoteric oxides? Give two examples
amphoteric oxides.

TouT TFHZT I QA 7 ToeF HiRS 1o Trmaer |
TodT SRS IF A ? o TouT ST T me |

of
1+1=2

Y SRR SFEEESER | 717 AR 9Rmi smERet Y AR B

vl sifTaree fRl wen £7 v aifsarss ¥ @ semm AR

‘28, /(Qf A mixture of oxygen and ethyne is burnt for welding.

Explain why a mixture of ethyne and air is not used. 2

@rEl (SR i S (welding) SRS S WA R w=w
=g | 2 W IRR e P e 0 =07 [

T CETOl (STR N (welding) SRCEA @R 2WRA-«q e
A1 3 | 2 3R AR e (3 IR T W A2 [ ¢
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AR R U ' yEE) SR e YrEE wEaE S 3
A IR & TR 9 SR S Y9d |

u‘hﬁmawqw%ﬁ»mmméﬁn%mﬁmm%mw

a1 91 % o w61 3w w1t 7€ e st v it

yWhat is esterification reaction? Write the name and
structure of the product when ethanoic acid reacts with

ethanol in presence of an acid catalyst.

WBirem ffFm 2 ot SEies TRkfes amie s 2ureR

w51 RfFm R Seom Rt “mLBE 99 W sva B

1+1=2

Bive Rigm o wpfe wEie Teifgfore wRfe e

e At R Fea Seom zew M A @32 5@ (@A |

R AmbAm feasnaem m? tfhe o afirme gumfies
firean 3umest feasnag SR dnfsem gareri g o Swfsemee

o

iR Affsar 87 wHlsE o T o IoRe i Iafeufd #
woe @ fufrn w fr A w1 Sl @ 3@ AW oA wem

Siiced!

Write the names of the following compounds :

T (TPTRE AW T

e @ A e
e WRwRA et R
T At % 7w fafaw .

/(z)/ H-—(lz—tZ::—(:i—é = C—H

|
H HH

H H H

/ﬂ( H—(;I——(:}-—Cli= O

B19-GS/22A
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Or / 1%31 / 9%t / Q&1 / rerat
(a) What is homologous serics? Explainl with examples.
| 1+1=2
SR i PR Qa2 T i geR e |
T AN FCF A 2 TARAPTE, T AT |
TREERR yrE wra g7 ik R geAm ’/R)
TR Aol o 7 IS TR qEET

(b) Draw the structures of the following compounds : 1+1=2
oo fuan (AR 1eR-fod SR - '

e Qe som-foa o
TeEE BHE WRERE Imemg g 3y
Frafafaa Af H v b fifeg
(i) Hexanal / (ZTHA / (TWE [ T9aHe [ daHd
(ii) Propanone / 9’3 / (APFA / WIHT / WHA
http://www.assamboard.com

(c) Name two hydrocarbons which give addition reactions. 1
e R ey 701 G IR A B |
T R (i @@el 70 YRR W (@l |
oA Frenarg RRAm Tt wg'wEal § ol
e afufsra Ram awrd @ aegreen % m fafew)

wod pieoquuesse mmm//:dny

29. Draw a neat labelled diagram of the longitudinal section of the
human heart and show the direction of the flow of blood
through the different chambers with arrow marks, and give a
brief description of the blood circulation through it. 2+3=5

mewﬁmﬁ%tﬁwmwﬁwmﬁﬁﬂm
e AARS @[ (TR YRR frd $16 B A/ oryed 9F JUEERonR.
TR (A (O% AT i 5 e fn o

T TR I RER e o B e e @q R sow
7 fic 2RIRS 26 7@ YER fie O foz aml ore W Ty 1y ey
6T AGIARLAN G0 FHY {39 718 |
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AR g W eR-Rae g @R greEaEy . |/emi
i I A A A wA N e 3R e R fr R R
I A AN TEE Y @At i g7 Pt @

A 550 % G e o ARG R SIS a9T sueh faftw et 7 € &
T G A R gr anemRy R geg ¥ WK % 97 | TF Giaw
Toraror A

Or / F1231 / 9% / U=t / SFear

What is photosynthesis? What are the events that take place
during this process? Write how does plant absorb carbon

dioxide. 1+3+1=5
%mqﬁv@wwﬁ— ot g R 7 SR A
wwqum o o

Wﬁ"mﬁ@m a?(ﬂ%ﬂrﬂ\ﬂﬁ—imw%@vww
I TR-SHIXT TR I, GTA |

Arafaferea’ e A1t X RrafRuE ST RETER 7T AT RIS HER e
—eﬂs-wawﬁ?rrﬁ%tl

mmﬁwwé?wu&m%mﬁqmmﬁaﬁ%?mﬁmm
I STFHTFATEE T AR Fd &7

wod pIeoquuesse mmm//:dny

30. A 20 mm tall object is placed perpendicular to the principal
axis of a convex lens of focal length 10 cm. If the distance of the
object from the lens is 15 cm, then—

10 cm ¥'F1E M4 & (TR G¥FE Y TFFS IO 20 mm%wraﬁ
b1 31 T | T FR T TEREE T [Y 15 cm F, (B—

10 cm (PP OO @D TS AT I3 WO STISRA 20 mm TS
b G TN Tl | AW (T GR TFREE WY /G 15 om W, ORE—

10 cm %M SHEIEH @@ o8 TR TER 314t ¥EE 9 20 mm
aﬁmsﬁmgmﬁhﬁmﬁﬂmm&liﬁémmmaaﬁw
STHYTEA 15 cm S, 3feel—
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%15 20 mm @« f5= 10 cmﬁﬂqﬁ%mmﬁﬂ%w@m%
g @ R IR e R AW A 15 cm B, A—

(@) find the nature, position and size of the image; ) 3

fefga o3fS, Sagm we IR Ry 7;
2AfSRTT 2, TR W3R R fdfy e
Amform wrrEf, araf A wewE g,

wfafes i wpfa, AR aon 2R 0 ARt

(b) find the magnification of the image. ' - 2

SRy R Sferean |
*fSfRres s @ s
wrrEfy Al Rg)
wiafem 1 smads e v

Or / 1231 / 991 / Tt / et

Find the power of a concave lens of focal length 2 m. A concave
lens has focal length of 15 cm. At what distance should the
object from the lens be placed so that it forms an image at
10 cm from the lens? Also find the magmﬁcatmn and nature of
the image produced by the lens. 1+2+1+1=5

2 m FIR O SRS (TR GR WO R #0115 om ¥IR OHR
SRS (TR ¥ 1 R e TR <B ARG O/ <RI 10 em
@R AfSRT @1 16 FRT? TR TS @Rl RN s e o
fAdfa =1

2 m @RM (R @3 SHeA = wwel Ry I 1 15 om FR™
R b TROA (F (WF TS TG IV AR WA G (AT
10 cm AT ¥ 2feRy P T3 ? TR @R 29w 2R Rady wae
orpfs fefer 3¢ |
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2 m $FE THUE M R wow awf MRE g1 15 om w'Em
WRuRR e a9 TR SR TEIRaE ANR gar TR eniedsen
fwm 10 cmwwﬁwmmm?aﬁm
TR AT ARy IR wEEt g R

.2 m B g0 T TRt araaa ofe ) emar 3 HIfTl 15 cm B gl
1 BN IFad o fordt foa o wfafe @ @ 10 cm @ W @ 81 fow o
T Forerft gt w o ®7 wfafem 1 smad aw vl oft 7 Aifsmg)

31. Why should we conserve forests and wildlife? State three main
problems to construct large dams. 2+3=5,

T HF AR 7 wwwa FR Ao 2 g AR FoRw oras 4@
fSR01 2ty SR R SeEy 341 |

T 3R VAR, (o TFHT IS W? R Wy Ffieew . o R
2 e e ey I |

St TAY g I SRR Rrawra Sty SR R SR gEAEE aeE
HAATH MR ST §Hi= 79 | '
gﬁmmaﬁsﬁmmmmaﬁwaﬁq?a@aﬁﬁ%ﬁqﬁéﬂﬁg@
# wwEnedl w1 3ga i)

Or / 7%t / 971 / Tat / A
Why do we need to manage our resources? Write your views
regarding conservation of forests. 2+3=5
Wi SR oA R TRRIERT TR AT 2 I AW (P (AR
oS for |
(@ I A=At IR NI IO W7 I SRIWPC (FEq (O
TOS CeCl |
St i wreErE 7 gEer. A7 g Safy e e s
g Bl

@ gl % waue H TEwEET /b R 99 WEv $ Y o 3 gEeE
fofaw)

% %
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